



#### **Lofted Barn**

Prices Effective 12/01/20

	SIZE		Sq. Ft.	Price	Standard LB
8	Χ	12	96	\$4,150.00	1 – 48" Single Wood Door in 8' Wide or 1 – 72"
8	Χ	16	128	\$5,430.00	Double Wood Door in 10', 12' & 14' Wide All 12' Long
8	Χ	20	160	\$6,590.00	Side Lofted Barn, Lofted Barns, come standard with
10	Χ	12	120	\$5,120.00	one 4' loft. All 16' Long Side Lofted Barn, Lofted Barns,
10	Χ	16	160	\$6,090.00	come standard with two 4' lofts. All 20' to 24' Long
10	Χ	20	200	\$7,295.00	
10	Χ	24	240	\$8,990.00	Side Lofted Barn, Lofted Barns, come standard with
12	Χ	12	144	\$6,150.00	two 6' lofts. All 28' Long or Longer Side Lofted Barn,
12	Χ	16	192	\$7,465.00	Lofted Barns, come standard with two 8' lofts.
12	Χ	20	240	\$8,905.00	
12	Χ	24	288	\$10,360.00	
12	Χ	28	336	\$10,910.00	
12	Χ	32	384	\$11,945.00	All Prices Include Urethane
12	Χ	36	432	\$13,255.00	Urethane or Paint is required on all Buildings.
12	Χ	40	480	\$14,545.00	ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST
14	Χ	16	224	\$9,110.00	ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL
14	Χ	20	280	\$10,825.00	BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE
14	Χ	24	336	\$12,290.00	HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AND
14	Χ	28	392	\$13,460.00	TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.
14	Χ	32	448	\$14,905.00	
14	Χ	36	504	\$16,505.00	
14	Χ	40	560	\$17,800.00	

#### **Side Lofted Barn**

SIZE Sq. Ft. Price					İ
8	Х	12	96	\$4,330.00	
8	Х	16	128	\$5,610.00	
8	Х	20	160	\$6,770.00	-
10	Х	12	120	\$5,300.00	8
10	Х	16	160	\$6,270.00	ľ
10	Х	20	200	\$7,475.00	
10	Х	24	240	\$9,170.00	L
12	Х	12	144	\$6,330.00	
12	Х	16	192	\$7,645.00	
12	Х	20	240	\$9,085.00	
12	Х	24	288	\$10,540.00	
12	Х	28	336	\$11,090.00	
12	Х	32	384	\$12,125.00	
12	Х	36	432	\$13,435.00	
12	Х	40	480	\$14,725.00	
14	Х	16	224	\$9,290.00	
14	Х	20	280	\$11,005.00	
14	Х	24	336	\$12,470.00	
14	Х	28	392	\$13,640.00	
14	Х	32	448	\$15,085.00	
14	Х	36	504	\$16,685.00	
14	Х	40	560	\$17,980.00	

#### **Standard SLB**

2 – 24" x 36" Windows, 1 – 48" Single Wood Door in 8' Wide or 1 – 72" Double Wood Door in 10', 12' & 14' Wide All 12' Long Side Lofted Barn, Lofted Barns, come standard with one 4' loft. All 16' Long Side Lofted Barn, Lofted Barns, come standard with two 4' lofts. All 20' to 24' Long Side Lofted Barn, Lofted Barns, come standard with two 6' lofts. All 28' Long Side Lofted Barn, Lofted Barns, come standard with two 8' lofts.





#### **Lofted Barn Cabin**

Prices Effective 12/01/20

SIZE		Sq. Ft.	Price	Standard LBC
Χ	16	160	\$7,625.00	3 – 24" x 36" Windows & 1 – 80" 9-Lite Door. All 16' long Lofted
Χ	20	200	\$8,840.00	Barn Cabins come standard with a 4' loft over the porch and one
Χ	24	240	\$10,355.00	4' loft in the rear of the Building. All 20' to 24' long Lofted Barn
Χ	20	240	\$10,500.00	Cabins come standard with a 4' loft over the Porch and one 6' loft
Χ	24	288	\$11,290.00	in the rear of the Building. All 28' long Lofted Barn Cabins come
Χ	28	336	\$12,385.00	standard with a 4' loft over the Porch and one 8' loft in the rear
Χ	32	384	\$13,290.00	
Χ	36	432	\$14,485.00	of the Building.
Χ	40	480	\$15,685.00	
Χ	24	336	\$14,470.00	All Prices Include Urethane
Χ	28	392	\$15,450.00	Urethane or Paint is required on all Buildings.
Χ	32	448	\$16,415.00	ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST
Χ	36	504	\$19,440.00	ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL
Χ	40	560	\$21,410.00	BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE
				HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AND
orne	er Po	orch Lof	ted Barn Cabin	TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.
SIZE	-	Sq. Ft.	Price	
Χ	20	240	\$10,930.00	Standard CPLBC
Χ	24	288	\$11,980.00	
Χ	28	336	\$12,820.00	2 – 24" x 36" Windows, 2 – 36" x 36" Windows, 1 – 80" 9-Lite
Χ	32	384	\$13,915.00	Door & All 20' to 24' long Corner Porch Lofted Barn Cabins come
Χ	36	432	\$14,995.00	standard with the loft over the Porch and one 6' loft in the rear
Χ	40	480	\$16,300.00	of the Building. All 28' long and longer Corner Porch Lofted Barn
Χ	24	336	\$14,615.00	
Χ	28	392	\$15,520.00	Cabins come standard with the loft over the Porch and one 8' loft
Χ	32	448	\$16,940.00	in the rear of the Building & Porch Railings. CPLBC that is 20' long
Χ	36	504	\$19,175.00	gets a 4x10 porch.
Х	40	560	\$21,060.00	CPLBC that is Over 20' long gets a 4x12 porch.
	X	X 20 X 24 X 28 X 32 X 36 X 40 X 24 X 28 X 36 X 40 C 20 C 2	X 16 160 X 20 200 X 24 240 X 20 240 X 24 288 X 28 336 X 32 384 X 36 432 X 40 480 X 24 336 X 32 448 X 36 504 X 40 560  Corner Porch Lof SIZE Sq. Ft. X 20 240 X 24 288 X 28 336 X 32 384 X 36 432 X 40 480 X 24 288 X 36 432 X 40 480 X 24 336 X 32 384 X 36 432 X 40 480 X 24 336 X 32 384 X 36 392 X 32 448 X 36 504	X         16         160         \$7,625.00           X         20         200         \$8,840.00           X         24         240         \$10,355.00           X         20         240         \$10,500.00           X         24         288         \$11,290.00           X         28         336         \$12,385.00           X         32         384         \$13,290.00           X         36         432         \$14,485.00           X         40         480         \$15,685.00           X         24         336         \$14,470.00           X         28         392         \$15,450.00           X         32         448         \$16,415.00           X         36         504         \$19,440.00           X         36         504         \$19,440.00           X         40         560         \$21,410.00           Denner Porch Lofted Barn Cabin         SIZE         Sq. Ft.         Price           X         20         240         \$10,930.00           X         24         288         \$11,980.00           X         28         336         \$12,820.0

Wrap-around Lofted Barn Cabin

	wrap-around Lorted Darn Cabin						
	SIZE		Sq. Ft.	Price			
12	Χ	24	288	\$12,535.00			
12	Χ	28	336	\$13,405.00			
12	Χ	32	384	\$14,845.00			
12	Χ	36	432	\$16,080.00			
12	Χ	40	480	\$17,600.00			
14	Х	28	392	\$16,645.00			
14	Χ	32	448	\$17,800.00			
14	Χ	36	504	\$19,540.00			
14	Χ	40	560	\$20,995.00			

#### Standard WPLBC

6 – 24" x 36" Windows, 1 – 80" 9-Lite Door, All 24' long Wrap-Around Lofted Cabins come standard with the loft over the porch and one 6' loft in the rear of the Building. All 28' long and longer Wrap-Around Lofted Cabins come standard with the loft over the porch and one 12' loft in the rear of the Building. & Porch Railings.

### **Lofted Barn Garage**

	Price	Sq. Ft.		SIZE		
2	\$11,420.00	240	20	Х	12	
	\$12,630.00	288	24	Х	12	
	\$13,225.00	336	28	Х	12	
	\$13,655.00	384	32	Х	12	
	\$14,695.00	432	36	Х	12	
	\$12,480.00	280	20	Χ	14	
	\$14,010.00	336	24	Χ	14	
	\$15,145.00	392	28	Χ	14	
	\$16,235.00	448	32	Χ	14	

#### Standard LBG

2 – 24" x 36" Windows, 1 – 80" 9-Lite Door, 1 – 9' Roll-Up Garage

Door & 2 – 8' Lofts.

14 X 36 504 \$18,860.00





### Barn Prices Effective 12/01/20

	SIZE 8 X 1		Sq. Ft.	Price	
8	Χ	12	96	\$3,570.00	Standard Barn
10	Χ	12	120	\$4,355.00	1 – 48" Single Wood Door in 8' Wide or 1 - 72" Double Wood
10	Χ	16	160	\$5,020.00	Door in 10', 12' & 14' Wide.
12	Χ	12	144	\$5,320.00	
12	Χ	16	192	\$6,305.00	
12	Χ	20	240	\$7,460.00	
12	Χ	24	288	\$8,615.00	
12	Χ	28	336	\$9,340.00	
12	Χ	32	384	\$10,060.00	
12	Χ	36	432	\$11,080.00	
12	Χ	40	480	\$11,945.00	
14	Χ	16	224	\$7,375.00	
14	Χ	20	280	\$8,390.00	All Prices Include Urethane
14	Χ	24	336	\$9,980.00	Urethane or Paint is required on all Buildings.
14	Χ	28	392	\$11,140.00	ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST
14	Χ	32	448	\$12,155.00	ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL
14	Χ	36	504	\$14,330.00	BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE
14	Χ	40	560	\$15,775.00	HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AND
16	Χ	20	320	\$9,605.00	TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.
16	Х	24	384	\$11,345.00	
16	Χ	28	448	\$12,650.00	
16	Χ	32	512	\$13,950.00	
16	Х	36	576	\$16,415.00	
16	Х	40	640	\$18,010.00	

## Cabin

SIZE			Sq. Ft.	Price
8	Χ	12	96	\$4,810.00
8	Χ	16	128	\$5,740.00
10	Χ	20	200	\$7,830.00
10	Χ	24	240	\$9,280.00
12	Χ	20	240	\$9,050.00
12	Χ	24	288	\$10,210.00
12	Χ	28	336	\$11,080.00
12	Χ	32	384	\$11,945.00
12	Χ	36	432	\$13,110.00
12	Χ	40	480	\$14,270.00
14	Χ	16	224	\$8,675.00
14	Χ	20	280	\$10,415.00
14	Χ	24	336	\$12,005.00
14	Χ	28	392	\$13,460.00
14	Χ	32	448	\$14,905.00
14	Χ	36	504	\$16,355.00
14	Χ	40	560	\$17,800.00
16	Χ	20	320	\$11,200.00
16	Χ	24	384	\$12,790.00
16	Χ	28	448	\$14,390.00
16	Χ	32	512	\$15,980.00
16	Χ	36	576	\$17,575.00
16	Χ	40	640	\$19,170.00

### **Standard Cabin**

3 – 24" x 36" Windows & 1 – 80" 9-Lite Door.





### **Econo Barn**

Prices Effective 12/01/20

_		_	LCOIIO		Prices Effective 12/01/20		
	SIZE		Sq. Ft.	Price	0. 1.15		
8	Х	12	96	no longer offered	Standard Econo Barn		
Eco				r on-lot sales only	1 – 48" Single Wood Door.		
	(	Corr	ner Po	rch Cabin			
12	Х	20	240	\$9,340.00			
12	Х	24	288	\$10,645.00	Standard CPC		
12	Χ	28	336	\$11,515.00	2 – 24" x 36" Windows, 2 – 36" x 36" Windows, 1 –		
12	Χ	32	384	\$12,240.00	80" 9-Lite Door & Porch Railings. CPC that is 20' long		
12	Χ	36	432	\$13,400.00	gets a 4x10 porch.		
12	Χ	40	480	\$14,845.00	CPC that is Over 20' long gets a 4x12 porch.		
14	Χ	24	336	\$12,590.00	or e tride is ever 20 foring gets a fixed poroni		
14	Χ	28	392	\$13,460.00			
14	Χ	32	448	\$16,030.00			
14	Χ	36	504	\$17,370.00	All Prices Include Urethane		
14	Χ	40	560	\$18,530.00	Urethane or Paint is required on all Buildings.		
16	Χ	24	384	\$14,100.00	ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST		
16	Х	28	448	\$15,400.00	ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL		
16	Χ	32	512	\$16,850.00	BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE		
16	Χ	36	576	\$19,315.00	HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AND		
16	Х	40	640	\$20,910.00	TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.		
			Util	itv			
	SIZE	:	Sq. Ft.	Price			
8	X	12	96	\$3,925.00	Standard UX		
8	X	16	128	\$5,040.00	Standard OX		
8	X	20	160	\$6,200.00			
10	X	12	120	\$4,790.00	1 – 48" Single Wood Door in 8' Wide or 1 - 72" Double		
10	X	16	160	\$5,680.00	Wood Door in 10', 12' & 14' Wide.		
10	X	20	200	\$6,865.00	Wood Door III 10 , 12 & 14 Wide.		
10	Х	24	240	\$7,975.00			
12	X	12	144	\$5,720.00			
	-	-			•		
12	X	16	192	\$6,845.00			
12	X	20	240	\$8,020.00			
12	_	24	288	\$9,050.00			
12	X	28	336	\$10,210.00			
12	X	32	384	\$10,980.00			
12	X	36	432	\$12,385.00			
12	X	40	480	\$13,400.00			
14	X	16	224	\$8,390.00			
14	X	20	280	\$9,400.00			
14	X	24	336	\$10,850.00	•		
14	X	28 32	392 448	\$12,300.00			
14	X	36	504	\$13,975.00 \$15,630.00	•		
14	<u>х</u>	40	560	\$13,830.00	•		
	Х	-	320		•		
16	X	20 24		\$10,620.00 \$12,215.00	•		
16	X		384 448		•		
16 16	X	28 32	512	\$13,955.00 \$15,835.00	•		
	_	-					
16	Х	36	576	\$17,430.00			

\$19,170.00

640





Garage

			Gara	age	Prices Effective 12/01/20
	SIZE		Sq. Ft.	Price	
10	Х	20	200	\$8,015.00	Standard Garage
10	Χ	24	240	\$9,710.00	
12	Х	20	240	\$9,535.00	2 – 24" x 36" Windows, 1 – 80" 9-Lite Door & 1 –8'
12	Х	24	288	\$10,500.00	Roll-Up Garage Door in 10' Wide or 1 – 9' Roll-Up
12	Χ	28	336	\$11,725.00	Garage Door in 12' & 14' Wide.
12	Χ	32	384	\$12,530.00	
12	Χ	36	432	\$13,825.00	
12	Χ	40	480	\$14,845.00	
14	Χ	24	336	\$12,445.00	
14	Х	28	392	\$13,745.00	All Prices Include Urethane
14	Χ	32	448	\$15,055.00	Urethane or Paint is required on all Buildings.
14	Χ	36	504	\$16,645.00	ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST
14	Χ	40	560	\$18,385.00	ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL
16	Χ	24	384	\$13,520.00	BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE
16	Х	28	448	\$15,260.00	HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AND
16	Х	32	512	\$16,850.00	TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.
16	Х	36	576	\$19,315.00	
16	Χ	40	640	\$20,615.00	
			Garder	Shed	
	SIZE		Sq. Ft.	Price	Standard GSX
8	Χ	12	96	\$4,015.00	1 – 24" x 36" Window, 1 – 48" Single Wood Door in 8'
8	Χ	16	128	\$5,130.00	Wide or 1 – 72" Double Wood Door in 10', 12' & 14'
8	Χ	20	160	\$6,290.00	Wide.
10	Χ	12	120	\$4,880.00	Wide
10	Х	16	160	\$5,770.00	
10 10	X	16 20	160 200	\$5,770.00 \$6,955.00	
10 10 10	X X X	16 20 24	160 200 240	\$5,770.00 \$6,955.00 \$8,065.00	
10 10 10 12	X X X	16 20 24 12	160 200 240 144	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00	
10 10 10 12 12	X X X X	16 20 24 12 16	160 200 240 144 192	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00	
10 10 10 12 12 12	X X X X X	16 20 24 12 16 20	160 200 240 144 192 240	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00	
10 10 10 12 12 12 12	X X X X X X	16 20 24 12 16 20 24	160 200 240 144 192 240 288	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00	
10 10 10 12 12 12 12 12	X X X X X X	16 20 24 12 16 20 24 28	160 200 240 144 192 240 288 336	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00	
10 10 12 12 12 12 12 12	X X X X X X X	16 20 24 12 16 20 24 28 32	160 200 240 144 192 240 288 336 384	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00	
10 10 12 12 12 12 12 12 12 12	X X X X X X X X	16 20 24 12 16 20 24 28 32 36	160 200 240 144 192 240 288 336 384 432	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00	
10 10 12 12 12 12 12 12 12 12 12	X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40	160 200 240 144 192 240 288 336 384 432 480	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00	
10 10 10 12 12 12 12 12 12 12 12 12	X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40	160 200 240 144 192 240 288 336 384 432 480 224	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00	
10 10 12 12 12 12 12 12 12 12 12 14 14	X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40 16 20	160 200 240 144 192 240 288 336 384 432 480 224 280	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00	
10 10 12 12 12 12 12 12 12 12 12 14 14	X X X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40 16 20	160 200 240 144 192 240 288 336 384 432 480 224 280 336	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00 \$10,940.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14	X X X X X X X X X X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40 16 20 24 28	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00 \$10,940.00 \$12,390.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14	X X X X X X X X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40 16 20 24 28 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00 \$10,940.00 \$10,940.00 \$14,065.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14	X X X X X X X X X X X X X X X X X X X	16 20 24 12 16 20 24 28 32 36 40 16 20 24 28 32 36 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00 \$10,940.00 \$12,390.00 \$14,065.00 \$15,720.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14 14	X X X X X X X X X X X X X X X X X X X	16 20 24 12 20 24 28 32 36 40 24 28 32 32 36 40	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$8,480.00 \$9,490.00 \$10,940.00 \$12,390.00 \$14,065.00 \$17,460.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14 14 14 14	X X X X X X X X X X X X X X X X X X X	16 20 24 12 20 24 28 32 36 40 24 28 32 36 40 24 28 32 36 40 24 28 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504 560 320	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$13,490.00 \$9,490.00 \$10,940.00 \$10,940.00 \$11,0710.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14 14 14 16 16	X X X X X X X X X X X X X X X X X X X	16 20 24 12 28 32 36 40 16 20 24 28 32 36 40 24 28 32 36 40 24 28 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504 560 320 384	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$13,490.00 \$10,940.00 \$10,940.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00	
10 10 12 12 12 12 12 12 12 12 14 14 14 14 14 16 16	X X X X X X X X X X X X X X X X X X X	16 20 24 12 16 20 24 28 36 40 16 20 24 28 36 40 20 24 28 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504 560 320 384 448	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$13,490.00 \$10,940.00 \$10,940.00 \$11,070.00 \$11,070.00 \$11,070.00 \$11,070.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000 \$11,000	
10 10 12 12 12 12 12 12 12 12 14 14 14 14 14 14 16 16	X X X X X X X X X X X X X X X X X X X	16 20 24 12 28 32 36 40 16 20 24 28 32 36 40 24 28 32 36 40 24 28 32	160 200 240 144 192 240 288 336 384 432 480 224 280 336 392 448 504 560 320 384	\$5,770.00 \$6,955.00 \$8,065.00 \$5,810.00 \$6,935.00 \$8,110.00 \$9,140.00 \$10,300.00 \$11,070.00 \$12,475.00 \$13,490.00 \$13,490.00 \$10,940.00 \$10,940.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00 \$11,0710.00	





## **Side Porch Cabin**

Prices Effective 12/01/20

	SIZE		Sq. Ft.	Price	]			
14	Х	20	280	\$11,495.00	Standard SPC			
14	Х	24	336	\$13,170.00				
14	Х	28	392	\$14,970.00	4 – 24" x 36" Windows, 1 – 80" 9-Lite Door & Porch			
16	Х	16	256	\$11,260.00	Railings.			
16	Х	24	384	\$15,655.00				
16	Х	40	640	\$23,515.00	All Prices Include Urethane			
					Urethane or Paint is required on all Buildings.			
					ALL BUILDINGS HAVE A 3 SECOND 150 MPH WIND GUST			
					ISSUED IN ACCORDANCE WITH 2012 INTERNATIONAL			
					BUILDING CODE REGULATIONS. BUILDINGS ALSO HAVE			
					HURRICANE CLIPS INSTALLED ON EACH FLOOR JOIST AN			
					TRUSS. ALL WALL STUDS ARE ON 16" CENTERS.			
	Available Options:				Price:			
2'X3	3' Sir	ngle	Pane Wi	ndow	\$90.00			
24"	X27'	' Sin	gle Pane	Window (Loft Only	y) \$90.00			
2'X3	B' Do	ouble	Pane W	/indow	\$180.00			
3'X3	S' Sir	ngle	Pane Wi	ndow	\$115.00			
3'X3	B' Do	ouble	Pane W	/indow	\$230.00			
36"	Doc	or 9-l	ite		\$335.00			
36"	Doc	or So	lid		\$280.00			
48"	Sing	gle W	ood Do	or	\$125.00			
72"	Dοι	ıble '	Wood D	oor	\$235.00			
6' R	oll-l	Jp G	arage Do	oor	\$550.00			
8' R	oll-l	Jp G	arage Do	oor	\$575.00			
9' R	oll-l	Jp G	arage Do	oor	\$600.00			
Rad	iant	Barı	rier		\$1.35 /Sq.Ft.			
Win	dov	v Shu	itters (p	air)	\$60.00			
Flov	ver	Вох	(Each) (2	4" Only)	\$60.00			
Flov	ver	Вох	& Shutte	er combo	\$120.00			

Additional options available, refer to SO options dropdown box

### **Dealer Notes:**